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1	Introduction 
In this document, the proposals for the following topic is presented. 
	Section 2
	DCI size alignment



2         DCI size alignment
In NR Rel-15, for DCI size alignment, when the size of DCI 0_1/1_1 is the same as that of the fallback DCI 0_0/1_0, one bit is added to the DCI format 0_1/1_1 to make their size misaligned. In Rel-16, new DCI formats 0_2/1_2 are introduced for URLLC operation. How should we design the DCI sizes of these formats? Two options were discussed during RAN1 100_e. In the first option, the DCI of 0_2/1_2 can be configured to be the same as that of 0_0/1_0 or 0_1/1_1, and in such cases, the UE shall pad one or more bits to the DCI 0_2/1_2 or 0_1/1_1 in order to make them unequal. In the second option, the gNB shall make sure that the size of 0_2/1_2 is always different from that of 0_0/1_0 and 0_1/1_1. In our view, since each field of the DCI format 0_1/0_2 is configurable, it is much easier (from UE implementation and standardization perspective) to go with the second option. Therefore, we make the following proposal.
[bookmark: _GoBack]Proposal #1:
· A UE is not expected to monitor a first decoding candidate with DCI format 0_0/1_0  and a second candidate with DCI format 0_2/1_2, where the two decoding candidates are mapped to the same resource and the DCI formats 0_0/1_0 and 0_2/1_2 have the same size.  
· A UE is not expected to monitor a first decoding candidate with DCI format 0_1/1_1  and a second candidate with DCI format 0_2/1_2, where the two decoding candidates are mapped to the same resource and the DCI formats 0_1/1_1 and 0_2/1_2 have the same size.  
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